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Aufgaben-Quickname: 4518
Aufgabe 1
Stelle den Bruch als Prozentsatz dar.
383 147 735 999
® qpo0 3% b)gg0 = 1900 35% <) 1000 9994
31 310 469 938 1 284
4) 195 = to00 3% ¢ 500 = To00 938% 1) 95 = 10— 28:4%
23 16 128 - 213 426
8 100~ 723% b 195 = 1900~ 128% 1) 500 = Too0—420%
307
1) 1000327
Aufgabe 2
Stelle den Bruch als Prozentsatz dar wie in Beispiel a).
a) T =F5-25%  b) {55-43% o) 39 = 15-98%  d) 1h5-99%
19 38 3 12 21 84
e) 5— - W:38% f) 2—5 — milQ% g) 25 - m:84%
h) 5y = 15-15% 1) fog-7T1% ) 15y-63%
Aufgabe 3
Stelle den Bruch als Prozentsatz dar wie in Beispiel a).
1237 _ 2474 1083 _ 4332 9051
d) 50 = 1000059 4% ¢) 5000 — 0000 5? 14% f) 1000077 2t
2717 3999 161 2576
&) 10000 2017%  b) foo00-3999% 1) G5 = Too00 20 76%
1761 _ 8805
i) 2000 = 0000 —88/05%
Aufgabe 4
Stelle den Bruch als Prozentsatz dar wie in Beispiel a).
) oL -93,1%  b) pR-31% o) pho5T% d) T —T7,9%
4 14 N1 o~ (11
h) gof = DHL014% ) TE157% ) 1o —T1,1%
Viel Erfolg!
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